CLASS-10+1 CH-7 PERMUTATIONS & COMBINATIONS

EX-7.1 BOOK-NCERT TOPIC- Fundamental Principle of
Counting

Fundamental Principle of Counting

“If an event can occur in m different ways, following which another event

can occur in n different ways, then the total number of occurrence of the events
in the given order is mxn.”
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The above principle can be generalised for any finite number of events. For
example, for 3 events, the principle is as follows:

*If an event can occur in m different ways, following which another event can
occur in n different ways, following which a third event can occur in p different ways,
then the total number of occurrence to ‘the events in the given order is m x n x p.”
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|[EXERCISE 7.1|

1. How many 3-digit numbers can be formed from the digits 1, 2, 3, 4 and 5
assuming that [ )
(i) repetition of the digits is allowed? ~"

(ii)  repetition of the digits is not allowed?
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2. How many 3-digit even numbers can be formed from the digits 1,2, 3,4, 5, 6iif the
digits can be repeated?
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3.

How many 4-letter code can be formed using the first 10 letters of the English
alphabet, if no letter can be repeated”




4. How many 5-digit telephone numbers can be constructed using the digits 0 to 9 if

each number starts with 67 and no digit appears more than once?
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5. A coin is tossed 3 times and the outcomes are recorded. How many possible
outcomes are there?
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6. Given flags of different colours, how many different signals can be generated if
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